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Section 3+ Chvil
\

Section 3 . Civi)
1) Which of the folinwing ﬁptinns W \‘R___
relation of the effectiyg Sl’“@(.&) WE the COHRECT 1

and pore water Pressyrg h

}ﬁﬁﬁﬁaﬁﬁmmﬁm‘lﬁﬁﬁeﬂag
(u)? tota) Stress (g) T oy (6) e R At o (o) ¥ e wy

ST 49
Ale=ufs
B)e=su M&=u.|’s
Ble=gy
=sfu
Ge Cle=gy
Dye=s-u D)e =y

s,

2) S O S A S e 2 s 2, i e
te) win fetrieve g certain

P e, &, oty T R g W s o e
value. Whal is this vajye Called? L .
tA) Scrap Value A) 7 -

B} Book Value SECEE

C) Market Value C}ﬂfﬁﬁq

D) Potential Value D) Wi &=y

3) Pt it e e 2

3) Consider the following statements.

" # g (P 3 ooy
. e (Frerf) iy St :
ed due to shrinkage in masonry walls a 1T AT T () i R e it e
;- Cecks cauls ized by excess use ofrich cement  #¥
¢an be minimize

- = - Wg
s T 7 7 fr o N
HRTTER) 3 it () ot ek

in masonry b. R (e i

mortar in ma nrv can also be reduced b?’ = mﬁmﬂﬁgwﬁ!ﬁﬁ 3 Ffr & arfrpir
b. Cracks in maso F}'rk X maschry has dn?:_:l 3 oo gz (e & a1 9T

Gelaying plasterwo dergone most of its initial

. un
Proper curing has

shrinkage

A)‘ﬂﬁ?-ramg
B) TR bR
A) Only a is true STt
¥ Only bis true D) T K § A Ay vy &
€) Both are true
O) Neither of the two are true

___-—.._._—-..--—

Py
oz
1
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4) Which type of energy s Micro-EDM process based 4) Arest-EDM st P vt it ef v M,

on?

A) Thermoelectric Energy A) wRTEATI Tl
B) Thermo kinetic Energy B) gHT FTEATET AT
C) Geothermal Energy ¢) frdrnda wroff

D) Thermodynamic Energy -0) quTERATRS T

= s,
5) Choose the main objectives of estimating analysis 5) &t fafor 7 & waifafes  arvam (Ui,

of rates at construction. eI 324 A
1. To determine the actual cost of items on location 1. ff &ar = Fvgal Fit aeafas Avra Fuffrr o
2. To finalize the labor contract rates g
3. To find out lhe quantity of materials and labor 2. #aT Fif2wz T2 &t sifdw =7 27 & forw
required for specific work 3, =t fafare v & forw e amoreft o

4. To know the altematives to optimize the resources  #&T 5T 07

8, T T ST (SRT) 7 F A

| _ ST R
A} 1, 2, 3 statements are correct A Far1, 283wt
B) 2, 3, 4 statements are correct - B) 74 2, 3 sl 4 7t §
C) 1, 3, 4 statements are correct C) F7 1, 3ol 4 7t &
—8) 1, 2, 3, 4 statements are correct R) 1,2, 344 T E

6) Choose appropriate Mixed design Grades {as per 6) T SRS ) ¥ R e e

IS 456: 2000) for ordinary concrete. femme ire (1S 456: 2000 ¥ a0 TR
A) M20, M25, M30 A) M20, M25, M30
B) M35, M45, M55 B) M35, M45, M55
L) M10, M15, M20 C) M10, M15, M20

D) M45, M50, M55 D) M45, M50, M55
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[ “f
weighlng 8 N, Slghy of Section 3 - Civl
\ wg liy _
A) 7000 N/m2 ot i
\ d 7
B) 5000 N/m3 ﬁ::mﬁﬁﬂanmﬁfﬁem{ﬁﬁmaﬁ
™ iy
C) 4000 N/m? Mooy
D) 6000 N/m?

Lo Ty
E}sﬂﬁuNﬂ.m F“”'rlh. by,

P
C} 4(]0{] MNima ,Pa .
2 D
E:I Which one of the f‘}" ) Enuﬂ Nimp ydn::h?]. 'Y
undesirable for a goog . leng reg;

Cquir
A) Simple in mnsh—uminn IS 8§ TF s

_ Wh%ﬁqﬁai#mﬁmmm
B) Possess adequate Water A F'err[“ m* 5
C) Internal and gxt = } -
externg) SUfaces o ol RALLE e
b ' - g ‘
D) Capable of baing ®asily cleq, -9 Wﬁ?ﬁﬂmmmﬁ’m
D) IR T —

B ] Eqr'TlIn" A -
XIMum shea, Stress, [1:’51: ) Elél MEE i i

g PaR, T stirarer srveaer sfir (R
A) 30 MPa L T AR
L= \b),, A) 30 MPa
C) 35 MPa C
.C) 35 MPa
D) 30.2 MPa D) 30.2 MPa

[
—

¥ AW

- !

e

1) Which term is used for a beam that has morethan. 10) TF e v % € & st e adre et e

0 spans and more than three supports along its maﬁq%ﬁqﬁqmmmﬁmw@
Sﬂ'lﬁm in a straight line? |

’;ﬂ .}.'g'r'i!_-_.i-omtinuous beam A) ¥ EvEm g

: s -

E) Cantj B

ﬁég??mﬁver beam i E}'F-"?—f*]qt{ o
'.'%f".'?w supported beams Porereft it ey

: D) FEgem gy
) -Qf{pﬁnunus beam
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11) Which of the following statements are CORRECT , 11) IS 10440 (1983) RB & Rac ‘H‘?q’n%
with respect to Reinforced brickwork, according to 3 Fr srearer #far ¥ T, Pdvres gy,

. EE
the IS 10440 '(1983): Code of praclice for # Fwfafus & & w9 a1 w7 T e
construction of RB and RBC floors and roofs,

8. All bricks shall be thoroughly saturated by a. @it &1 1 7T A 95 7 & oy s

g
submerging them in clear water for at least four T & 73 ¢ T T & W Fiy oy T
hours before use

b RB#{RBCWTWE?T%%{IW%
b. The formwork for the RB and RBC floor or roof 14 1377 & vger 78 germr sy e

shall NOT be removed before 14 days after laying c. FTfT 1:1, T1oIT T8 iz % 1 wpr e o
C. The mortar shall be a mix of 1:1, 1 part of fresh T &7 o gy =Ry

Portland cement to 1 parts of coarse sand d. BBT (<IgA) A 41 & v & vy ELEL
d. The rods should be kept in touch with bricks
A) a & b only lﬂ,_'k}mamb
B) a & c only B) Yt a e
C)b & conly C) ¥ b s o
D) a & d only D) v 2 e d

12) Consider the welght of soll sample and weight of 12) fidt % T I 997 e 9l 7 77 7y
Wwater 30 kg and 10 kg respectively. What will be the AT 10 kg T R 5 T F AR I T A0
e i Vi Y [t

value of weight of solids (in kg) on conside ring weight 21t ¥ ik 777

AT (kg F) ST A
of air as null or 07 ’}(
A) 40 A) 40
\8) 300 Wy = 38 3
by = . =B) 300

G120 e C) 20
D)3 D)3

AN

AN

v, 35
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concrgte scaling? f“'fnu,ing
I

Section 3 - Civil
E ot
A) ExpOsure of con Cretq t "eagg, e
0 k!
cycle$ beforg the cnncmtfrﬁe ing . ]mﬁﬁwmﬁﬁnﬁm@
strel'lg (27 Mpg a) ® ga Aing lhnd thay, ng
B) Use nf low Water.q, = "®Ulreq mmm{wpa}mmﬁvﬂrn
Meny mﬁ“ﬂ I Ry
deep.ar penelratmn of rauu‘ whi ( . l:ﬂTﬁ'l']'_:l RERCE T3t 'FI' ot
_ Wa[Er Ch Imp&d » AT
G} Cur‘Ing for 'Gnger n'IEtn n 23 E)WT'{% .
| Seq MR ST o T, oy
D) Late dr}nng of ncr& ed ifirrm'grqm& ‘fﬁﬁf’rﬂﬁ’ﬁw
& b
surface attain the deg; lso hoips 4 C}mmmﬁafammﬁqﬁn
en 2 .
O) % ﬁhwmﬁmﬁﬁanﬁsmm
ot e ey
14) You have M
W raif 1
surace (having a way,, o ace f " 3Valley, 14) e Frir
i g Peromming nutT AR K . BRI T
Which of the roy me]nnm%wﬁ@mm
smatlons should you gy o ahiove o s Wﬁlwmﬁammﬁqﬁmmm
construction cost ig Minimizeq? 50 that meﬁmaﬁﬁﬁw ST A g
A) Quantity of cut < Quantity of 5
B) Quantity of cut > Quantity of f :] :imﬂmﬁﬁm
c} Quantity of cut = Quantity of fill — ' r:; ﬂﬁ::iz:#m
D} Eunsh'uctlﬂn Cost is independent of quantity of ffr o i
) AT, Fr e e WA w4
1“]1 and fill
[rs:-.

LA jl:h of the following details are required for 15%#%;@;@1‘{&#} m-ﬁmtﬁq
02 rsn: ing the number of bricks required for wall? ﬁﬁﬁ’lﬁﬂif Takra ﬁw@rﬁmep "

LY mne—nfthe wall 1, 41T A e
‘ mra of a standard brick 2 ww@fﬁzﬁw
St}fﬁpenings in the wall 3. ZATC # o7 o7 fror
4.D¢ s'nf labor, items and plants 4. ﬂﬂﬂ_@mmww
ool ' A) To9 1,234
statements f‘B* T 1. 3ke4
> 4statements

Le) a7 1,243
D) ¥4 1,2, 34 4

42,3, 4 statements
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16) Whch among he | lmrequlmsaiﬂlﬁﬂﬁﬁﬂ'ﬁﬂ'ﬁ?ﬁﬁzﬁm
L] oflowing

rAeTEt Bt 89 e
frequent imgation? JE NN
A) Sand
B) Loam B) &iw
C) it .. Ofw
D) Clay D)%

e

17) Specity the statements that are CORRECT with 17) A1z e B ¥ iy i TH Ty Rfsy 5
Fespect to camying out brickwork on site:

8. Bricks should be completely dry while creatinga  a, faTe Tt v £ T T & =t iy T

wall b, ar&rr%'m#ﬁﬁn#ﬁﬂaﬁﬁr
b. No brickwork shall be carried out during rains a‘aﬁﬁ*ﬁ#ﬂzﬁ‘?ﬂftﬂ#m?ﬁ-;
unless special amrangements are made o protect ST L R St &

the brickwork from rain for 24 hourg c. mm%ﬁuzn‘r?hﬁw#uﬁ#wﬁﬁ?%
¢. Fresh cement mortar should be used within 24 AT SR
hours of mixing
A)aandc wA)adftc
B) b only B) ¥ b
C) Conly C)¥a ¢
D)band ¢ LB) bt e

18) Select the least accurate method out of the 4 18) S T Wiy &f ey daer .
oplions to carry out orfentation of plane table in plane % ¥ fre 4 Ryewgy CRECEE R e S e

table surveying, Fiferin
LA} Resection A) Frarart (Fdam)

B) Back sighting B) e Far (& améfem)
C) Optical Square : l'ulc} Az e

D) Magnetic Needie | D) Y7 7§ (R4 #iza)


https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

1&\:."hich of the T“"ﬂhﬁr. Section 3 - Civl
the tensile strengty, of Cnnirﬂan
1. Metal rods can ag Blay

unha ;
ll'.l IMp;u.,I,E 19 " ﬁ.‘ a_
Ued tg VY A S s it e Py PR
2. Wire m"baaddﬂdm“ ' AC o - ¥

3. Mesh ﬂb-eaduedtn i 1-?‘Tirmv;ﬁa‘gah—;mwﬁg
2 ¥ e iy vy

3, Tt B
A) Only 1.‘% Statemenyg ¥ T Sy o e

'8 Cormecy
B) Only 2, 3 slatemeng =

"® Cormaey A) At g 127t g

C)Only 1, ﬂ.lﬁtEtEmEnts are frecy B}Erm:rq:qq 2T awE§

D) 1,2, 3 statements 5y Correqt O) ¥ s 1 s g it

B) ¥ 1, 2 akr 3 Wl §
20) Fillin the blank with 4, COR e~
RECT option
y EU}ﬂﬁﬁm%&mWﬁmﬁﬁﬁm

Parallelism s

a principle yseq in

AL+ ———— which ﬁ‘trfﬁsrqtm'fﬁmr?ﬁm:fﬁm " fr
states that "All the rays drawn hrough various detsite ST &, Forvit T & i “FaPer Rt & e
should pass through the Survey station,» ' Z

A) Tacheometric surveying LAY PSR e
B) Plane table surveying B) & Fer wie
C) Chain surveying C)H e

D) Image processing D) =7 TrgTHT

21) As per the assumptions under the Simpson's ?1}T%ﬁ:;;T?
Ne, the boundaries between both the ordinates F#T % )

deats a: LA) Wﬂﬁiﬁ‘i\ﬁ (i =)
A) Parabolic arc B) ATHIT A7 (Tt ard)

B) Circular arc -~ C) g A (Ff-we o)
C) Semi-circular arc

D) ST W (ufeieega o)
D) Elliptical arc
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22) Identily the scenatio In which Simpson's fule Is 22) g et e X Rt TR

most accurate, ciethd

A) When straights are perpendicular ' A) T A g

B) When straights form curves B) ¥ YAt oF &Y

C) When straights are parallel C) T @t i g1

D) When straights form parabolic arcs \D) 5@ Yart drrarfars ok atd

= o —,
23) Which of the following Is NOT an advantage of 23) Fafaifera # & i a7 =7 RCC #rerms;

steel reinforcement in RCC structures? . Remrz e adige
A) High tensile and compressive strength A) IF T a1 AR AfiET i
B) Ductile in nature LB) y3fat # e (319rEa)
C)Loses strength when exposed fo high C}3g dToam ¥ & o ary g TR &Y 3
temperatures D) 3T P g 2 &
D) Allows easy fabrication

24) Which of the following tube wells s inadequate 24) frafefes & wim-a1 Torgw (=7 I=7) g7+
for very fine sandy strata because, in its case, scréen ¥t =<t (F1ew # Ren) ¥ Ry sydw g & =

openings ara likely to get choked easily? TEH , T AT F Arar & a7 g £ dvraar &
A) Slotted type tube well A) WeT TRT SEAT

B) Strainer type tube wall B) €A% 215y EEaw

C) Cavity type tube well Loyt arvew aaw

D) Hole type tube well D) 81+ 2159 SpFaw

25) Which of the following processes is used to 25) wrgfa O d5 &7 vt #7 fwrem F forg Referfa
extract or take out stones from the natural rock bad? & & f Sfar #7 74T T w7vaT 27

A) Quarrying

LAY
B) Placer mining B) e i
C} Fertilization ' C) wfarsaa
0) Building

n) BT
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26) Which of the foligy,
RCC structure g bas ing

Section 3 - Civil
Seq r“Bth Odg
theo on IE Ea UI' Ihdesig ing

: “lassigy . © @ B)Reg & DN
A) Ultimate loag othog %l olagy, A AT R w7 4 PR

B)Limrt ate of cojigy gy T SR e vt e amne

Me “'luq
D) Limit state of Crackin
\

| C}%‘?ﬁﬁ?ﬁ

O) frfirz e st 42
27) Calculate the tgta[ res T
diameter 2.5 m. helq verg Sure gp, agj

Y in reular p ale of '%;;;__
4mbelow the free surgagy 1T With it center ey ﬁmm Nl qrﬁqi gt
A) 180.34 kN SUAYY T ®T A IR R i e
B) 198.43 kN A) 180,34 ky
C) 138.46 kN B) 198.43 kN
D) 192.61 kN C) 138.45 kN
D) 192,81 kN
_—_‘__-—-__-—__ —
28) Match the following pairs CORRECTLY 28) Frafafer et 9t wdt B
A. Grave| siza _ l‘ 1.80- 3un 00 mm _hl L 1. BO - 300 mm T
B. Sand size 12.475-80mm- | (2.475-80mm |
C.Sitsize ~ [3.0075-2mm | |G frezamen, 113.0075-2mm |
|D.Cobble size 14.0.002-0.075 mm_ | 031 7w/ 4. 0.002- 0.075 mm |
A-4,B-2,C-1,D-3
A)A4,B-2, C-1, D-3 A o
LB} A2, B-3,C4, D-
B) A2, B-3, C-4, D-1 - P—
C)A-1, B-3, C-2, D4

D) A4, B-1, C-3,D-2
D)A4, B-1, C-3, D-2
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Brerfarfirg 327 @EEE &
29) Prepare an approximate estimate of a factory 29) e ST ares,
buudmg proposed lo made up of RCC with the mﬁ?ﬁﬁl 4] ﬂmmﬁmﬁ

following data points: SF(TTAT) 120 m23

?
The total plinth area of the entire building is 120 m2 ‘f‘fﬁl M ﬂﬁm &; a}:r) ﬁmm ﬁﬁ
(bulit-up area), i { ﬁ’”

Plinth area rate for the RCC building is 26000~ &

A) 37,20,000/- L AYZ7,20,000) /4y
B) ¥14,40,000/- B) ¥14,40,000/- 1
C) %9,60,000- C) 29,60,000/- X

D) %8,60,000- ?-ZO\DEU

D) 28,60,000/-

30) Match the following types of soil with their soil 30) fmfafam war £ gt 71 st fift &

name. ﬂﬁﬁ'ﬂ'ﬁfﬁft{!
1. Tahs A Lake | 1.ETed A. JiGi{TI)
2. Loess. B. Glacial 2,809 8. T3
3. Lecustrine —~~J C. Wind 3. AIHYCIg c.idg
4. Stratified Drift | D. Gravity 4. %XICPEs ST o, dlaT]
L4 1-D, 2-C, 3-A, 4-B _Ay1.D, 2-C, 3-A, 4-B

B) 1-B, 2-C, 3-D, 4-A B) 1-B, 2-C, 3-D, 4-A

; C) 1-8, 2-D, 3-A, 4-C C) 1-B, 2-D, 3-A, 4-C

E) D) 1-D, 2-B, 3-A, 4-C D) 1-D, 2-B, 3-A, 4-C

31) As per IS specification 1068, all the wasts fitlings 31) IS a7 1068 ¥ qeTe, A8 ¥ ot arafre ffa
in a basin shall be plated of grade B. (3% firfr) IT B & wiez gT TR

A) Aluminiym bAyarfif

B) Lead B) e
C) Chromium o) R
D) Zinc

D) s (f5)
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37&‘Ch0}ose the Cog
indéterminate sy, Cturg REgy

Socton 3= G-
r m
A) Centilever b, M the bar. 8 b
ms Flow M 32) sy frreit affem Fre
Colt Plions, TV B Bt 3 w fw _
B) Boliuous beamg TR0 )y e
5 i ik AR A RE A P | |
C) SimRly supparyey beams A) H P ey
D) Th {tinged arches T3 fre =

Ell;jh

33) COT'ISidiEI' a wal| with len , .
10ft.and 10 . respectiy Sth an . -y _ 4

Bight gi
is measured at 200 Cly. The iy o D?:‘:" oS 23) UF Hare Py s e FATE Tma 10 f A
Il expressed Calcutate gy volum o O R e 200 m =iy v ) B e

wall expressed jn Cubic ft, unit sing { € of the meﬂqﬁ%mﬂmwﬁ?mﬁ
Given: 1 mm = 0,003 fi. ®Ovendaty, o £l

RUTT 8 1 mm = 0.00328

h_""-—-. ’ b

A) 200 !

A) 200
B) 66 ) (b

B) 66
C) 55 )55
D) 400

D) 400
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34) Identify the image representing combined

35) Inwhich of the following methods, the ngredients 35) fsrfaifara i & iy fafer i e 35 sraaret o o
both weight wwmar wraT # st firr fRems & s @ ol

of concrete are estim ated and mixed with

and/or volume according to the mix design? ATGAT =TT /T FHeATET S §7
}-A¥ Batching of concrete A) Ffte fF afsr

B) Randomizing of concrete B) iz i deramsfiT

C) Sizing of concrete C) F+#iz i arzfim

D) Washing of concrete D) Ffte i arfiT
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q6) You have to Congy,

e K. Uct
of formation ‘ws ang

hei gh‘wa? Sectlon 3 - Civil
\ ; th hav
] of
ot t?vj:ra ° e Side i Y1 &mt‘anknlg iy Width o
slope. Vhich of f“"w.rli ha"ing " :‘i ', Th&f%ﬁ‘]‘:m T ST w1 Rraor wr & Rrprifers 9
CORRECT equation, for ang °Dlinn3 Tans\,ErSE “ﬂ";ra{x:mm T Y o W ) v we ¥ A
fea o Qiveg " " }Y:i%iﬁ'rqﬁiﬁgtwﬁﬁhq}ﬂﬂ*l
A] e CIOSS‘SEcﬂun? ¢ . o ﬁﬁ'?ﬁmﬁ’m— E R ED LA (ﬁ;h_ﬂigm;
B) wh+ Yh TR e gy
C] wh + Yh! A) Wwh + yp
' L B
D}H(Wh"‘Yhz) )Wh-l-\f"h
( C) wh + vz
D) ¥ (wh + Yh?)
37 '-=Yﬂl.| ha\fB N
1;'““”1 o raking test Wherg Your spe . -
‘km/h. : e §
i " YOU applieg e ke . HTJWW“??:’%??%WW.@ 18 km/h &1
marks were 5.0 m i 45, the skid. <r3 it frs
mark <2 M N length, i AR ST 3 A, §1 R ¥ Frarm 5.0 m & i fare
magnitude of skid resistance? (Take g = 1p m!al the TR 1 qfior TATEM? (g = 10 m/s? %)
p S
A)0.05 ) . L _i
4 A) 0.05 el
B) 0.18 2y 2 3.
B g B) 0.18 QEN 2y Jox
C)3.24 Ly 324
=1 - Joo
D) 0.25 D) 0.25
%ﬁf Fill in the blank with a CORRECT option: 38) T Ft & ey arvr ot i e

an a desirable water-cement ratio effective, Erra"fﬂr FA-HTHE H?Wr F1OITANT FOE TR
P > ool structures can (3%%), rrdt (zEmifiT) A FTgT (i)
he -2 and appropfiate _—— L A

T N\LA) FhE ft arFaar
gth of concrete B) itz £t areaT
of cement C) itz €% argAaT

Strength of aggregate p) mefaF=T f A
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—

309) Identily the imagn deplcting shuttering. g 30) wr2ft 7y 2 Wﬁ 7R A v

40) What is the camy-over fg ed
ctor for a bea 1
Bl ™ hinged 40) FT firdt ¥ feft(fes) 7 ¥ Fro AT
A)1.5 e
) _ . A15
C)0.5 | o
C)0.5
B0
D)0
\ !\
Y
Fage 126 of 268 ——
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b -|.=.!- 2

b a
1 Prismatic Xacy ]
;‘malﬂt PIEC Compagg Mo Section 3 - Civ
,quWt{ Objagy "
) Cylindrical Box mﬁhm*ﬂfﬁnhtmmﬂammm
)il | A) s
) Eye Vane B) LT —
' C) Freg I
F_Th TN { Lt D) urs 37
4 The mass. ﬂnm
s relative density? kgt Whar
] e i 5 42 - 3
: d\ , : m;tﬁ?ﬂﬂwmmm{m X S0 kg
2053 . N TR e (R o
BI%IT Y "[:“ﬂ ~ b3 A
e i S
°1£,§4 ; B) 0.23
s i
D)095 Y
iy U D) 0.95
i “L

T vy
By O T R ——
statement depicting the CORRECT relationship. T A

ar T AT T Y T

A) lnSI system, surface tension is expressed in Lay S.1. waTeft ¥, 78 T (wret Sy Nim 3 s B
o ol
B) S:I. system, force is expressed in Nim2 -~ - B) S.I. worreft #, 77 (1) Nfm2 % =rer fivay sy &

Of .. system, pressure is expressed in N/m C) S.1. Worrit #, ZaTa (¥4r%) Njm # sarer B wirar 2
D) In § .Lﬂ.gﬁteml power is expressed in N/m? D) S.. ToITeAt 7, arfew (T72) NYm?2 # = P vy &
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44) A corporation possesses a machina that costs d4) % TR 3 T 1w, fy ? i
230,000 to purchase. This machine's 6-year useful 230,000 7 &1 ST &1 39 ofpy 77

life has suddenly come to an end. The corporation ST (T TR ST 7 7Ty L

understands that if it sells the machine now, It will be &t & ¥ a1t a7 snvft apafr 3 T A,

able to recover 10% of the purchase price. T 10% FA T H47]
Therefore, Ihe salvage value now would be: TR, 59 a9 T (A &%) Fra:
A) 32000 A) 32000
B) 23000 000 ETEmTP 114
- C)ra500 © ) 22500

D) 23500 D) 23500 Q‘fmn]

45) Consider the given relationships conceming the 45) Frsarsr 3 T AT Prr T 457 97 g
formula for the midsection, identify the CORRECT t wift #aa £ TEATT X
statement(s).

[} Earthwork volume = mid-segment area * (period 1) a2 97 3o = fre-imifz e * (&

\within two primary sections) ¥ 419 91 7f)
1) Mean depth is used to determine the area of W) Frz-3rmifz 3 S 37 Prurifen ot ¥ fore off
mid-segments T TGN ey oy 2
A) Cnly | A) A |
B) land Il \Bhl gl
C) Only I C)aam Il
D) Neither | er 1 Dyaarldwadi

which the axis of the mixer is always hoj

discharge take place by

Inserting a chute jntg the & 713 ¥ yor & fRom 3 7 P g
drum or by reversing the direction of rotation

of drum.
A} Lot mixer py iz
B) Tilting drum mixer By fifm 3 firere
C) Non- tilting drum mixer ¢) - i on e

8] Dual drum mixer A
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am) Select the

lon 3 - Clvil
yiscosity. © Unj of
amj
T el v (erenf R 6 o
A) N.s/m? S. T W s
g) N/m Lﬁc)-
N.
¢y Nim?2 Binft
g B) Nim
D)k C) Nimz
j: D) kgim?
| 48) Match the following (oo
| ) NG unitg With ther —
| ‘conergions. R ——— S &
1.1INCH a% T $ifog
21MILE ET}-W L1 2. 1.6093 fSaiiiieR
3L.IMETRE |c. mﬁ‘g}ﬁ‘- 21 b. 0.91aa HieX
4.1YARD  |d.0.4047 HECTARE 31 ¢. 25.4 HiHIY
5.1 ACRE €. 3.280a FOOT LD 0.4047 IR
28,3040 5.1 e.3.2808 5T
C, 2-3, 3-, 4-b, 5.4
Hr LA, 2.0 36, 4, 5q
B)1c,2d 32, 4-¢ 54 B) 1-¢c, 2, 3-a, 4-¢, 5-b _
0)15,2.¢.3d, 4,54 C)1-b, 2:¢, 3.9, 4, 52
D) 1-b, 2-e, 3-d, 4-¢, 5-3 D) 1-b, 2-e, 3d, 4-¢, 5-a
49) Select the CORRECT formula for calculating the 49) WET-ATH R 6 faf e T T ) E
volume of earthwork by mid

-sectional area method. " arfed #1 ateyn T T ¥ R w8 wx

AJV =13 {First area + Last area + AV V= LI (T 801 + e 80 + 4w i o v +

4(Sum of even area) + 2(sum of odd area)} (T ﬁﬁ:‘ﬁ:gq Loe
= AT 4 +2y
B) V=12 (First area + Last area + B}V_L;'i:::h+mm+nmm
2 x Remaining area) --QV= _ b
)V = U3 (First + Last area + 2 x Remaining D) V' = RT3 97 &y x .
= U3 (First area
area)

i between the
Ov= Area of mid-section x Distance

two sections
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50) What Is the name of the bullding materlal which 50) 3% war s ammft 27 T s .

Ty,
, t hardens, sets and ﬁ,.ﬁ?@mgaﬂ-{;ﬁ%%%

is used for construction tha iy

adheres to other materials 1o bind them t-:lgether?'

A) Structural Steel A) Eﬁm‘&‘iﬂ
“B] Cement B) #idz

C) Reinforcement Steel C) ferssiz &

D) Binding Wires D) EIFELURC 1D

a __-"l-—___
51) Which type of pollution is primarily responsible for 51) férezd st 3y ey T
causing headache and high blood pressure 7 & fwr s a7 T v 47

problems?

A) Land pollution A) T T
B) Water pollution

B) 37 e
C) Soil pollution C) ficdt o
D) Noise pollution By et g

52) Identify the machinery used

In the process of 52) g Ft yhT ¥ T weltrdt f v A
Quarmying. =

A) Dozer -
B) Side Discharge loader - e
C) Backhoe
! C)&%er
D) Dragline

D) freme
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P o322
aﬁﬁﬁﬁﬁ*m#

e <

e the GORRECT
| & g brick to make a Percentage of ‘silica’
o N exceplional class b 53) fArm 7T 3T Hﬂqﬁm 4

,ﬂ"’”‘ cracks:
A 59%-6[}%
E}. a0%-90% LAy 50%-60%
spe10% B) 80%-90%
¢) 5%-10%
%-30%

aqufpm&ﬂt that is u
e Sedfﬂrmﬂ]'ki
and 15 made up of hardened and tempered steel wf'lg 54) gt T
dgoodquaidy ire m' :ﬁ' ﬁ
= TMe T qgar |

) denty the
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55) Match the folowing type of cement conforming to- 55) PRI AT & 3E vy

their respective IS codes, a3 g A tﬁrh
a.0PC53Grade  1.15 269 ' a0PC53¥IT 115269
b.OPC33Grade 2.5 12269 b.OPC33¥T  2.1S 12269
c.OPC43Grade  3.158112 ¢.OPC437T  3,S8112

A) a-1, b-3, c-2 A) a-1,b-3, c-2

B) a-3, b-2, c-1 LB) a-3, b-2, c-1

C)a-2,b1,c3 C)a-2,b-1, c-3

D) a-1,b-2, 3 D) a1, b-2, c-3

56) Choose a suitable service unit for the hospital.  56) srewarer ¥ fr U TG T T (wfdR o

A) Per bed Al qﬁh

B) Per room g B) 3ft =

C) Per patient . C) 7f# gife
‘D) Per meterol‘span1. LD) wfat Wiz aitw oy

97) Which of the following is NOT a green house 57) Fefera & 717 fi7 grem d At &7
gas?

A) Nitrous Oxide

A) TIEH ST
B) Methane LBy fide
C) Nitrogen C) Az
D) Carbon dioxide D) TET AR

58)- Out of the following options, which majorly 58) Frsrfarfarm feat # 8, Ttz frawdirz o afi
contribute to the ultimate or final strength of the WW%'&WW%WWE?

cement?

A) Dicalcium silicate by =iy Rf
icaleium aluminate gﬁﬁmwﬁ%

. Ire i luminofarr o)

C) Tetracalcium a arrite C) Tz TR

D) Gypsum D) foree

iy g
& Foe LT
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g0) You have to ““matg

Secllon 3 - Civil
. f““"ﬂw Rliny
mdude in the Cﬂ;tu[aun n? iy

freg
9 Shqmd of an 59

) ey

Not Byl %mﬁﬁr&wmw ARz
”vmndah areg ‘"ﬁ%q?l ﬁﬁﬁﬁwaﬂﬁﬂﬂﬂ%ﬂm
g) Courtyard areg|____

vC) Room Area A TPrers iy
p) Wall Thickness B) et oy

C) =% ufeay
_— 4oy S E S Wi
£0) 60) Which ﬂmt}m
reduction of air polutian "8 faisg 1, Onsite gy o
AL T T S ——
1 R sy
A) Never bumn waste Materigg
B) Adopt hybrid technolog, pakii 2 o B
C) Use high Sulphur giesey B) &refite vt s
c
D) Use renewable or SuUstainable materjals ) I T A 4y iy = |
O) 1 (Rqraer) T 1T (i) mmdt e
Hf
61) Choose the appropriate service unit for schogl 61} R waw ¥ forg aveper dray T (v i)
bulding, FTHET F)
A} Per seat A) afar bz

LB)Pﬂrstudent B) % ¥z
EhPa*r classroom _ C) 71 T
ﬂ} Per meter of span D) ¥FR e st e

: 62) 1S 456:2000 % H#TER RCC Fiem &7 AT JEIT

M Minimum size of RCC column as per IS 430 £ ]

A)9inx8in

B)12inx 12in
Rinx12in C) 300 mm x 300 mm
%m:auﬂmm L) 200 mm x 200 mm
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